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There is only one best answer to each question.
1) Carbon tetrachloride has a chlorine-to-carbon mass ratio of 11.8:1. If a sample of carbon
tetrachloride contains 20 g of chloride, what mass of carbon does it contain? \
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2) Write a chemical formula for a compound that contains two chlorine atoms to every one oxygen

atom. 2 T ] T
a. ClO;
Cl,0 A\, 0,
c. 2Clo
d. Cl{03)2

3) What is the correct chemical formula for Iith[um phosphate and iron (ll} oxide?

a. LisPO;3, Fe,03 ; L (‘D \z_:'"_’
LisPO4, FeO ‘ Fe
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\ { w \ c. LisPOy, Fe,0s ﬁ;o s s €60
@ 1.0\ d. LisPOs, FeO Fe?_ a = ¢
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4) What is the formula mass for CCl:F, and hydrobromic acid?

a. 120.91,96.91 —120.9) awwu
o1 ® 12091809 cc\ €y = kﬁ*\) % (j\ KZ) (57‘2) % .
m 229 ¢ 97.47,96.91 \2.0\ 3545 19.00

d. 97.47,80.91

\‘\YSV = \.0\+319.90 = B0.9\ amu
5} Write a formula for the compound that forms between potassium and chloride ions.
e

a. NaClo; e -
b. KCIO; ¥ cl
c. NaCl
@ KCl
6) Name the compound Mg(NOs), M 24 -
@ Magnesium nitrate 3 NP2
ghes! I . TR,
b. Magnesium nitrite ’tm"c
G Magnesium(}ﬂnitrate Mujuts'wm vEl

d. Magnesium N) nitrite



7) Which of the following elements do NOT occur naturally as diatomic molecules?

a. H

® 8

c. Cl

d |

8) Determine the formula mass of LisN G 7% \-0)
a. 43.81
- Wk N) = 34%.83  awmu

® 34.83 LiynN= (s “") i )

c. 48.97
d. 41.00

9) Name the acid HCIO;

- ; 3 ase = :
a. Hydrochloric acid cl0y Ct\\aféf; =  nime ¥ ovs + acd
® Chlorous acid Y
c. Chloric acid ?‘\n“_«,mc
d. Hydrochlorous acid iow
10) Name the compound SFs
a. Iy sulfur hexafluoride
b. Sulfur fluoride
c. @sulfurﬂuoride
@ Sulfuﬂuoride
11) How many atoms are there in 20 mol argon? 23
a. 1.20x10% b s T 3
b. 6.022x10% 2 awms = 20 my/Pox | XA T L20X10  gtoms
© 1.20x10%
d. 1.20x10°%

12) A sample of pure silver has a mass of 200 g. How many moles of silver are in the sample?

a. 0.54 \ Wl Ay _ 186 wel A
b. 0.98 2w\ Ag = 200 9 A4X = L
1.3 8 V( : \o?-S}w

@ 1.85

13) Which sample contains the largest number of atoms? 13
a. 100 g Na \ )A« 6.07.7— X‘o K+°\H$
NA X -
100gH ?ﬁ a:\’om%:ﬁ/ 12.99 5)1& \ M}/Ua\
c. 100gHe
d. 100g Ne
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14) How many moles of N are in 10 mol of Mg (NO3),?
Mo\ N ,2-0 N'\ N

b. 60 - \ Mol M
“ o),

C.
d. This problem cannot be solved with the information provided.

\ N 15) A compound is decomposed in the laboratory and produces 1.40 g N and 0.20 g H. What is the
L 5
Y. empirical formula of the compound? \ o

= \ M
% W 2 A Nz g X l*o\ = = 0.0999 wml

@ NHZ W'I\ \"\ nes o’ 9%0 Ml\'
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16) Which of the following names is correct?

Mele cvlar c— a. PBrs: PhosphorusM pentabromide No.o 999 o.\940
A phesphteus ‘““\d Phosphorus trioxide ©.0999 0.0999
t SFa: ulfur hexafluoride
@ NFa: Nitrogen tetrafluoride N\'\‘ 5% => N“?_

17) Is the following statement True or False?

Oxyacids are classified into two types, depending on the endings of the oxvc:}/ﬁgns that they contain.

a. True anion
@ False
18) What is the mass of 5.94x10%° H,0; molecules? '
20 \ W}A/ W, 0
00338 S ?(l_x\o W0, WAy toles X 5 Lot
b. 0.0594g ¢ g H 0 = 5 - | Cortx\0” # wibdeotles
c. 0.001g
d. 0.018g N (\ex2 -
K(}x\-ﬂ*& ) T - 00858 9
19) What is the formula mass of Mg{NOs),? \ "9'/\ W 0. 0%56 9
a. 5993.65
148.33 Mb(”o?’) (\xMa)* (z.x N) (exo) el o
c. 86.32
lL 00
d. 178.96 zq.st IL,, o\
20) What is the mass percent composition of oxygen in N>Os? "
a. 259% 5 Ve
b. 68.6% | 3
© 741% Mags geveek S X O X \00/. = F4.0¢ )/
d. 29.6% N i (2xn) x(5x0)
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21) Is the following statement True or False?

A mole hastobe a swl number because atoms are so Ié;g’e.
\uwac_ swal\

22) What are polyatomic ions?
@ lons that are themselves composed of a group of atoms with an overall charge
b. A mpfal and one or more nonmetals together in a chemical formula
c. Twoormore ca;ieﬁs paired with two or more aﬁk{ns
d. lons that are themselves composed of a group of atoms with total cha Mro

23) Which acid has the higher mass percent composition of 0?

a. HClo, . 7 x0 xwo/ = &6.34 /.
b. HCIO; ") A (k) +(2r0)
© H,S04 s 3*0 X\OOY. = s.cgax
d HiGO; FlAx) (@) + (3ro)
0 y :,QE-ZS'Z
24) What is the mass of H in 10 g of H,S04? &1 e T‘A\OO/- rj
a. 0408 wps0y = (¥x2) « (\x5) (Hx:_)*s-»@xo
b. 0.10g (4 x\6) = 98.08 3 . ;
c. 485.54¢g ¢ -« %3 2 x0 x\00/ = $3.28/
7 aviz 10 gWasey fle wa MesSy 2 wot R ~(wr) +(axe) +(2x0)
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25) Which of the following is an empirical formula? \ vt A = 5 = 0.2\ 9

a. CeH10s <— Milecolar (&m?\riu\[- CH;_O)
b. CiHs e—— M \ewlay

& HiO, (em?\ncx\ C.\:‘\)
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